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The ﬁgures in the margin indicate
full marks for the questions

1. . Answer as directed : . ) 1x7=7

. (a) Which one of the following is having
‘ highest osmotic pressure ? ‘

(i) Xerophytes .
(i) ) Halophytes.
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i) Lithoéhytee
(iv) Mesophytes o
SR (Choose the correct optlon)
" (b) ,;Swelllng of wooden doors durmg rainy :
season is due to :
@ endosmos1s
- (i) m;lblbxtlon '
(i) capillarity
“(iv) deplasmolysxs oo :
' (Choose the correct optwn)-{

. (o The amount of s01l water avaﬂable to
plant absorptxon 1s called, .
o o (Fill in the blank)<
(d) Which of the followmg statements is
k "wrong? . “‘. .
6 Guttation takes place at mght
Cfi) Guttation takes’ place through
' hydathodes

(i) Guttat;on- is a regulated
mechanism. . 4

- (iv) Gul;tatiori takes place ir; graeses.
~ (Choose the correct option)
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) (e) Due to defic1ency of whlch element the .
| grey speck dlsease of oats occur ?

' (ﬂ Auxm-B was ﬁrst l_solated by
) ;&ébute_end- Sumiki .
| (u) 'Miiler and Skoog
ﬁu) 'Kog'l‘and-"l“him.ahh  '
iv) Kogl Exxleben and Haagen-Smlt _
| (Choose the correct optzon) :

(g) Flowenng mduced by cold treatment is
'known as ’
-(i) ‘vemalization'
._(ii)" photdben‘odism '
. _ﬁii} Ascehescence’ '5 5
(w) cryobxology
' (Choose the correat opaon) -
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‘2. Write briefly on the folidwing’,: . 2x4=8
(a)  ‘Osmotic theories of active absorption

of water

(b) Deficiéncy symptoms due to lack of

: molybdenufn PR
| (c)- Ethylene <;n fruit ripening
‘(d)  Apoplast.
' 3 Write brieﬂy o.nmthre following : (any thfee)
| I  5%3=15
(a) | Meth_od of br?aking of séed dormancy

‘(b) Role of phytochrome plgment in

photomorphogenesm

(c) Cohesion-tension theory of ascent of '

sap
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(d) Criteria -for- essentiality of mineral

~elements . . ‘

(.e)' ‘Brassinosteroids. ‘

| 4. Answer the foﬂovﬁné quf;svtion‘s‘ : 16><3_=3O
(@) Describe the thedrji of proton-transpo'rt‘ A
and hofmonél regulation on opening-
and- cloéing of stomata. ljescrjbe the
role of ant1t’ransp1rants ', . 7+3=10 |
or

"Who propo's,e‘d”. the term ‘photo-

' peﬁodism’ ? What do yoﬁ mean .by long-
day ‘and shq‘rt-day( plénts ?° Write a
dc::scripyti‘.)é note on ﬂéﬁgeh éqncept.

o 1+(2+2)+5=10
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.

‘Munch hypothesis with diagram.

' "(b) How' are n’iinéral'-‘lsalts 'aval‘il'al.)le for

| plant absorptlon ? Descrlbe the

cytochrome pump hypothesm (w1th

« dxagrarn) for mineral salt absorptlon

What are the major demerits m ‘the

theory? B - 3+5+2= 104

Or

What are the experimentél evidences

you suggest in suppoft of the fact that
the translocation of sugar takes place

tl';rough phloem tissue. Explain' the

3+7=10

P : . R
{¢c) Describe the physiological role of auxin

and gibberellins. . 5+5=10
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or -

Name = two _,na'tur'ally,. occurihg -
c‘ytoki‘n:ins-. Déscri'bé. the 'role‘ of
oytokinin  on  cell  division,
" morphogenesis, retention of chloerhyll o
pigments and nucleic acid metabolism.

.  2+8=10
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